
FEBRUARY 2020

ALWAYS
THE BEST
PROTECTION
PROFILES

MADE IN

ITALY

FEBRUARY 2020

M.P.M. s.r.l.
Via Europa  2
35010 Fratte
di S. Giustina in Colle
Padova · Italy

T +39 049 9301773
F +39 049 9300427
info@mpmpvc.com
mpmprotections.com

ALWAYS
DYNAMIC

www.safeway360.com

FEBRUARY 2020 FEBRUARY 2020



Exterior & Interior
Protección de personas

Protección de activos y bienes

²ƵȋƊǶǞɹƊƧǞȍȁ�ɈƵǿȯȌȲƊǶ�ɯ�ƮƵ˛ȁǞɈǞɨƊ

Delimitaciones de zonas de trabajo

Diseño y soluciones a medida

SEGURIDAD GLOBAL

SAFET Y ENGINEERING
FOR A SAFE WORK

POSTVENTA Y MANTENIMIENTOPRODUCTO E INSTALACIÓNESTUDIO Y PROYECTO



TRUCK LINE

03. GUARD RAIL

ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS

7

INSTALLATION

pag.2

8 9

T=120Nm

* The distance of installation depends on speed and weight of vehicle

GUARD RAIL - TRUCK LINE

pag.1

Ø24mm
200mm

50mm

1 2 3

4 5 6

GUARD RAIL - TRUCK LINE INSTALLATION

Ø24mm

30

CHEMICAL
ANCHOR

2/3

35
m

l

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

Ø24 mm

30

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

CHEMICAL
ANCHOR

The distance of installation depends 
on speed and weight of vehicle

WARNING

1 2 3

4 5 6

7 8 9
pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

lØ24 mm

200 mm

50 mm

pag.1

Ø24mm
200mm

50mm

1 2 3

4 5 6

GUARD RAIL - TRUCK LINE INSTALLATION

Ø24mm

30

CHEMICAL
ANCHOR

2/3

35
m

l

pag.1

Ø24mm
200mm

50mm

1 2 3

4 5 6

GUARD RAIL - TRUCK LINE INSTALLATION

Ø24mm

30

CHEMICAL
ANCHOR

2/3

35
m

l

pag.1

Ø24mm
200mm

50mm

1 2 3

4 5 6

GUARD RAIL - TRUCK LINE INSTALLATION

Ø24mm

30

CHEMICAL
ANCHOR

2/3

35
m

l

pag.1

23

56

GUARD RAIL - ROD 70INSTALLATION

4

2/3

87
m
l

7

INSTALLATION

pag.2

8 9

T=120Nm

* The distance of installation depends on speed and weight of vehicle

GUARD RAIL - TRUCK LINE

7

INSTALLATION

pag.2

8 9

T=120Nm

* The distance of installation depends on speed and weight of vehicle

GUARD RAIL - TRUCK LINE

T=120Nm

24

BARRIERA SINGOLA
SINGLE-RAIL BARRIER

GR 90

03. GUARD RAIL

GRT 90

GRS 90

M16

GRSS 90

GRC 90

NUT M16

WASHER  M16

  100    100  

  1000  

  1100  

LIGHT LOAD /
FOR HANDPALLET

TRUCKS

25



WITH EXPANSION SCREWWITH EXPANSION SCREW

GR 90

03. GUARD RAIL

ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS

5 8

6 9

7 10

T=120Nm

2

Ø16mm

MIN 100mm*

WALL

pag.1

Ø16mm
95mm

GUARD RAIL - GUARD RAIL 90 INSTALLATION

7 8

INSTALLATION

9

pag.2

10 11

T=60Nm

GUARD RAIL - GUARD RAIL 90 CHEMICAL

* The distance of installation depends on speed and weight of vehicle

7 8

INSTALLATION

9

pag.2

10 11

T=60Nm

GUARD RAIL - GUARD RAIL 90 CHEMICAL

* The distance of installation depends on speed and weight of vehicle
7 8

INSTALLATION

9

pag.2

10 11

T=60Nm

GUARD RAIL - GUARD RAIL 90 CHEMICAL

* The distance of installation depends on speed and weight of vehicle

7 8

INSTALLATION

9

pag.2

10 11

T=60Nm

GUARD RAIL - GUARD RAIL 90 CHEMICAL

* The distance of installation depends on speed and weight of vehicle

M16 GALVANISED STEEL

2

Ø16mm

MIN 100mm*

WALL

pag.1

Ø16mm
95mm

GUARD RAIL - GUARD RAIL 90 INSTALLATION

1

4

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

Ø16 mm

Ø16 mm

95 mm

24

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l
ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS

GR 90

03. GUARD RAIL

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

pag.1

23

56

GUARD RAIL - ROD 70INSTALLATION

4

2/3

87
m
l

2

3

MIN 100mm*

WALL

pag.1

Ø18mm
120mm

90mm

1 2 3

4 5 6

GUARD RAIL - GUARD RAIL 90 CHEMICAL INSTALLATION

Ø18mm

24

CHEMICAL
ANCHOR

2/3

20
m

l

WALL

The distance of installation depends 
on speed and weight of vehicle

WARNING

MIN 100mm*

WALL

pag.1

Ø18mm
120mm

90mm

1 2 3

4 5 6

GUARD RAIL - GUARD RAIL 90 CHEMICAL INSTALLATION

Ø18mm

24

CHEMICAL
ANCHOR

2/3

20
m

l

M16 GALVANISED STEEL

2726



GR 90

03. GUARD RAIL

ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS

7 8

INSTALLATION

9

pag.2

10 11

T=60Nm

GUARD RAIL - GUARD RAIL 90 CHEMICAL

* The distance of installation depends on speed and weight of vehicle
7 8

INSTALLATION

9

pag.2

10 11

T=60Nm

GUARD RAIL - GUARD RAIL 90 CHEMICAL

* The distance of installation depends on speed and weight of vehicle

7 8

INSTALLATION

9

pag.2

10 11

T=60Nm

GUARD RAIL - GUARD RAIL 90 CHEMICAL

* The distance of installation depends on speed and weight of vehicle

5 8

6 9

7 10

T=60Nm

90 mm

7 8

INSTALLATION

9

pag.2

10 11

T=60Nm

GUARD RAIL - GUARD RAIL 90 CHEMICAL

* The distance of installation depends on speed and weight of vehicle

M16 STAINLESS STEEL ANCHOR

WITH RESIN

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

CHEMICAL
ANCHOR

MIN 100mm*

WALL

pag.1

Ø18mm
120mm

90mm

1 2 3

4 5 6

GUARD RAIL - GUARD RAIL 90 CHEMICAL INSTALLATION

Ø18mm

24

CHEMICAL
ANCHOR

2/3

20
m

l

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

MIN 100mm*

WALL

pag.1

Ø18mm
120mm

90mm

1 2 3

4 5 6

GUARD RAIL - GUARD RAIL 90 CHEMICAL INSTALLATION

Ø18mm

24

CHEMICAL
ANCHOR

2/3

20
m

l

pag.1

23

56

GUARD RAIL - ROD 70INSTALLATION

4

2/3

87
m
l

1

2

3

4

Ø18 mm

120 mm

ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS

GR 90

03. GUARD RAIL 

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

24

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

Ø18 mm

MIN 100mm*

WALL

pag.1

Ø18mm
120mm

90mm

1 2 3

4 5 6

GUARD RAIL - GUARD RAIL 90 CHEMICAL INSTALLATION

Ø18mm

24

CHEMICAL
ANCHOR

2/3

20
m

l

WALL

The distance of installation depends 
on speed and weight of vehicle

WARNING

M16 STAINLESS STEEL ANCHOR

WITH RESIN

2928



pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

2

Ø16mm

MIN 100mm*

WALL

pag.1

Ø16mm
95mm

GUARD RAIL - GUARD RAIL 90 INSTALLATION

Ø24 mm

30

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS

GR 150

03. GUARD RAIL 

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

MIN 100mm*

WALL

pag.1

Ø24mm
150mm

100mm

1 2 3

4 5 6

GUARD RAIL - GUARD RAIL 150 INSTALLATION

Ø24mm

30

CHEMICAL
ANCHOR

2/3

35
m

l

MIN 100mm*

WALL

pag.1

Ø24mm
150mm

100mm

1 2 3

4 5 6

GUARD RAIL - GUARD RAIL 150 INSTALLATION

Ø24mm

30

CHEMICAL
ANCHOR

2/3

35
m

l

1

2

3

4

Ø24 mm

150 mm

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

CHEMICAL
ANCHOR

MIN 100mm*

WALL

pag.1

Ø18mm
120mm

90mm

1 2 3

4 5 6

GUARD RAIL - GUARD RAIL 90 CHEMICAL INSTALLATION

Ø18mm

24

CHEMICAL
ANCHOR

2/3

20
m

l

WALL

The distance of installation depends 
on speed and weight of vehicle

WARNING

pag.1

23

56

GUARD RAIL - ROD 70INSTALLATION

4

2/3

87
m
l

GR 150

03. GUARD RAIL

BARRIERA SINGOLA
SINGLE-RAIL BARRIER

GRT 150

GRS 150

THREADED ROD M20

GRC 150

NUT M20

WASHER  M20

WASHER  PE M20

������� ������� �������
�������

������� ������� �������

��������

������� �������� �������
��������

������� ������� ������� �������

��������

������� �������� �������� �������

��������

������� �������� �������� �������� �������

��������

���
��
�

���
��
��

���
��
��

���
��
��
��
�

�������

%$55$�),/(77$7$�0��

*56����

*57����
521'(//$�0��

'$'2�0��

*5&����

521'(//$�3(�0��

������� ������� �������
�������

,03$&7�5(6,67$1&(�������-

����

+N«
RT
GU
GP
VG
«
FK
UG
IP
Q�
«
C«
UG
PU
K«
FK
«
NG
II
G�
«
G

«
FK
«
RT
QR
TK
GV
C

«
FG
NNC
«
/
2
/
�«
(4
#6
6'
«
FK
«
5C
PV
C«
)
KW
UV
KP
C«
KP
«
%
QN
NG
«
�2
&
�«
G«
PQ
P«
RW
Q

«
GU
UG
TG
«
TK
RT
QF
QV
VQ
�«
WV
KNK
\\
CV
Q�
«
PG

«
EQ
O
WP
KE
CV
Q«
C«
VG
T\
K�«
UG
P\
C«
RT
GX
KC
«
CW
VQ
TK
\\
C\
KQ
PG
�

!

"

 

�
 ��

�

�

�

���


6FDOD 'HQRPLQD]LRQH

0DWHULDOH

1U��'LVHJQR

5HY��Q�� 'DWD 0RGLILFD�

���&RQWUROOR

���&RQWUROOR

4�Wj

)LUPD

³*5�����(;3
;;;;;

�������� )DELR�0�

���
;;;;;³

;;;;; ;;;;;

�� $**,251$72�5(6,67(1=$

;;;;;;;

���������9LD�(XURSD����)UDWWH���3$'29$��,WDO\
����ZZZ�PSPSYF�FRP��(�PDLO��LQIR#PSPSYF�FRP
�����7HO�����������������)D[����������������

'56475+10'�/#6'4+'�2.#56+%*'
;;;;;;;

HEAVY LOAD /
FOR FORKLIFTS

ONLY WITH RESIN

30 31



ONLY WITH RESIN

IMPACT RESISTANCE: 1195 J

00

 

 

 

FirmaData

1 2 3 4

A

B

C

D

F

E

Il p
re

se
nt

e d
ise

gn
o,

 a 
se

ns
i d

i le
gg

e, 
e' 

di
 p

ro
pr

iet
a' 

de
lla

 M
PM

, F
RA

TT
E d

i S
an

ta
 G

iu
sti

na
 in

 C
ol

le 
(P

D)
 e 

no
n 

pu
o' 

es
se

re
 ri

pr
od

ot
to

, u
til

izz
at

o,
 n

e' 
co

m
un

ica
to

 a 
te

rz
i, s

en
za

 p
re

via
 au

to
riz

za
zio

ne
.

CENTER TO CENTER

CENTER TO CENTER

ESTRUSIONE MATERIE PLASTICHE 

GUARD RAIL CONTINUO
CONTINOUS GUARD RAIL

GRIN 90

03. GUARD RAIL 

GRIN 90

GRINCO 90

M12

GRINT 90

LIGHT LOAD /
FOR HANDPALLET

TRUCKS

GR 150

03. GUARD RAIL

ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS

5 8

6 9

7 10

T=120Nm

100 mm

7 8

INSTALLATION

9

pag.2

10 11

T=60Nm

GUARD RAIL - GUARD RAIL 90 CHEMICAL

* The distance of installation depends on speed and weight of vehicle
7 8

INSTALLATION

9

pag.2

10 11

T=60Nm

GUARD RAIL - GUARD RAIL 90 CHEMICAL

* The distance of installation depends on speed and weight of vehicle

7 8

INSTALLATION

9

pag.2

10 11

T=60Nm

GUARD RAIL - GUARD RAIL 90 CHEMICAL

* The distance of installation depends on speed and weight of vehicle

7 8

INSTALLATION

9

pag.2

10 11

T=60Nm

GUARD RAIL - GUARD RAIL 90 CHEMICAL

* The distance of installation depends on speed and weight of vehicle

32 33



GRIN 90/150

03. GUARD RAIL

ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS

WALL

MIN 200mm*

pag.1

Ø12mm

80mm

2 3

4 6

GUARD RAIL - GRIN 90 INSTALLATION

1

T=60Nm

WALL

The distance of installation depends 
on speed and weight of vehicle

WARNING

WALL

MIN 200mm*

pag.1

Ø12mm

80mm

2 3

4 6

GUARD RAIL - GRIN 90 INSTALLATION

1

T=60Nm

WALL

MIN 200mm*

pag.1

Ø12mm

80mm

2 3

4 6

GUARD RAIL - GRIN 90 INSTALLATION

1

T=60Nm

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

Ø12 mm

19

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

WALL

MIN 200mm*

pag.1

Ø12mm

80mm

2 3

4 6

GUARD RAIL - GRIN 90 INSTALLATION

1

T=60Nm

WALL

MIN 200mm*

pag.1

Ø12mm

80mm

2 3

4 6

GUARD RAIL - GRIN 90 INSTALLATION

1

T=60Nm

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

WALL

MIN 200mm*

pag.1

Ø12mm

80mm

2 3

4 6

GUARD RAIL - GRIN 90 INSTALLATION

1

T=60Nm

pag.1

23

56

GUARD RAIL - ROD 70INSTALLATION

4

2/3

87
m
l

1

2

3

4

5

Ø12 mm

80 mm

T=60Nm

GRINT 150
M12

GRINCO 150

GRIN 150

 7
1 

 2000  2000 

CENTER TO CENTER - 12 

 175 

 5
0 

 1
50

 
 2

00
 

 144 

 175 

 12 

 1
20

 

 60 

 2
00

 
 1

70
 

 106  394 
 500  500 

 250  250  106  394 
 500 

_____

Fabio M.Firma

Q.tà

2° Controllo

1° Controllo

DataRev. n°.

Nr. Disegno

Materiale

DenominazioneScala

1 2 3 4

A

B

C

D

F

E

Il p
re

se
nt

e d
ise

gn
o,

 a 
se

ns
i d

i le
gg

e, 
e' 

di
 p

ro
pr

iet
a' 

de
lla

 M
PM

, F
RA

TT
E d

i S
an

ta
 G

iu
sti

na
 in

 C
ol

le 
(P

D)
 e 

no
n 

pu
o' 

es
se

re
 ri

pr
od

ot
to

, u
til

izz
at

o,
 n

e' 
co

m
un

ica
to

 a 
te

rz
i, s

en
za

 p
re

via
 au

to
riz

za
zio

ne
.

...

1:50

...
aggiornato misure16/12/201601

_____
GRIN 150 EXP

ESTRUSIONE MATERIE PLASTICHE 

GUARD RAIL CONTINUO
CONTINOUS GUARD RAIL

GRIN 150

03. GUARD RAIL 

GRIN 150

GRINCO 150

M12

GRINT 150

IMPACT TEST PASSED
according to
AFNORNP P98-310

HEAVY LOAD /
FOR FORKLIFTS

34 35



  1
10

  

  

IMPACT RESISTANCE: 150 J

����������������������������

Prima emissione00

_____ 

 _____

1:4

Fabio M.13/01/16

 
ROD 70 EXP

Firma

Q.tà

2° Controllo

1° Controllo

Modi!ca:DataRev. n°.

Nr. Disegno

Materiale

DenominazioneScala

Rif. UNI EN 22768/1

* Per dimens.     di 0.5 mm, lo scostamento si indica dopo la dimens.
* Esclusi smussi e raccordi per eliminazione di spigoli.

±8
±4
±2

±6
±3
±1.2
±0.5

±4
±2
±0.8
±0.3

±2.5
±1.2
±0.5
±0.2

±1.5
±0.8
±0.3
±0.15

±1
±0.5
±0.2
±0.1

±0.5
±0.3
±0.1
±0.05

±0.2
±0.1
±0.05

molto grossolana
grossolana
media
!ne

v
c
m
f

2000
4000

1000
2000

400
1000

120
400

30
120

6
30

3
6

0,5°
3

Scostamenti limite per dimensioni lineari  *

Denominazione.Desig.

Classe di tolleranza

1 2 3 4

A

B

C

D

F

E

Il p
re

se
nt

e d
ise

gn
o,

 a 
se

ns
i d

i le
gg

e, 
e' 

di
 p

ro
pr

iet
a' 

de
lla

 M
PM

, F
RA

TT
E d

i S
an

ta
 G

iu
sti

na
 in

 C
ol

le 
(P

D)
 e 

no
n 

pu
o' 

es
se

re
 ri

pr
od

ot
to

, u
til

izz
at

o,
 n

e' 
co

m
un

ica
to

 a 
te

rz
i, s

en
za

 p
re

via
 au

to
riz

za
zio

ne
.

PALO PROTEZIONE
BOLLARD

PCC 70

NUT M20

SPRING WASHER M 20

WASHER M20

PC 70 266

THREADED ROD M20

PVC TUBE

NUT M20

ROD PE 70

04. COLD LINE

LIGHT LOAD /
FOR HANDPALLET

TRUCKSRESISTANT TO
LOW TEMPERATURES

-30°

7 8 9

11

15

18

GUARD RAIL - GRIN 90 INSTALLATION

14

12

13

10

16

pag.2

80mm

T=60Nm

19

GUARD RAIL - GRIN 90 INSTALLATION

pag.3

* The distance of installation depends on speed and weight of vehicle

7 8 9

11

15

18

GUARD RAIL - GRIN 90 INSTALLATION

14

12

13

10

16

pag.2

80mm

T=60Nm

7 8 9

11

15

18

GUARD RAIL - GRIN 90 INSTALLATION

14

12

13

10

16

pag.2

80mm

T=60Nm

19

GUARD RAIL - GRIN 90 INSTALLATION

pag.3

* The distance of installation depends on speed and weight of vehicle

7 8 9

11

15

18

GUARD RAIL - GRIN 90 INSTALLATION

14

12

13

10

16

pag.2

80mm

T=60Nm

7 8 9

11

15

18

GUARD RAIL - GRIN 90 INSTALLATION

14

12

13

10

16

pag.2

80mm

T=60Nm

7 8 9

11

15

18

GUARD RAIL - GRIN 90 INSTALLATION

14

12

13

10

16

pag.2

80mm

T=60Nm

7 8 9

11

15

18

GUARD RAIL - GRIN 90 INSTALLATION

14

12

13

10

16

pag.2

80mm

T=60Nm

7 8 9

11

15

18

GUARD RAIL - GRIN 90 INSTALLATION

14

12

13

10

16

pag.2

80mm

T=60Nm

7 8 9

11

15

18

GUARD RAIL - GRIN 90 INSTALLATION

14

12

13

10

16

pag.2

80mm

T=60Nm

7 8 9

11

15

17 18

GUARD RAIL - GRIN 90/150 INSTALLATION

14

12

13

10

16

pag.2

80mm

T=60Nm

7 8 9

11

15

18

GUARD RAIL - GRIN 90 INSTALLATION

14

12

13

10

16

pag.2

80mm

T=60Nm

7 8 9

11

15

18

GUARD RAIL - GRIN 90 INSTALLATION

14

12

13

10

16

pag.2

80mm

T=60Nm

19

GUARD RAIL - GRIN 90 INSTALLATION

pag.3

* The distance of installation depends on speed and weight of vehicle

6 11 16

7 12 17

8 13 18

9 14 19

10 15 20

80 mm

ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS

GRIN 90/150

03. GUARD RAIL 

36 37


